JAVA THREAD 3



Jndi 1 : Twnsldew Thread

o Twa1sviieuasenu Thread
dmsu Application 7iald
wazServer Application
n13a519 Thread laglaifinis
SRS IwINeN99 ¥ IR AS 09
AoNRILAasRSenldn
lusunsnAveym

Thread usiazsiazldasaie
nrivigAInNa1 50 MB

318809197119 % 2 TN

public class Crash implements Runnable {
int id;

public Crash(int id) { this.id = id; }

public void run() {
int buffer[] = new int[50000000];
try {
Thread.sleep(2000);
} catch(Exception e) { }
System.out.println(id + ": Done");

}

public static void main(String[] args) {
int n = Integer.parselnt(args[0]);
for(int 1 = 9; 1 < n; 1i++) {
Crash ¢ = new Crash(i);
Thread t = new Thread(c);
t.start();
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4':\tﬁb>java Crash 4

: Done !
: Done ,
: Done

: Done H

:\tmp>java Crash 5
: Done
: Done
: Done
: Done
: Done

IC:\tmp>java Crash 10
Exception in thread "Thread-9" Exception in thread "Thread-5" Exception in threa
d "Thread-8" java.lang.outOfMemoryError: Java heap space
at Crash.run(Crash.java:7)
java. lang.OutOfMemoryError: Java heap space
at Crash.run(Crash.java:7)
java. lang.oOutOofMemoryError: Java heap space
at Crash.run(Crash.java:7)
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public class Spawn implements Runnable {
public void run() { }

public static void main(String[] args) {

int n = Integer.parselnt(args[0]);
long startTime = System.currentTimeMillis();
for(int 1 = 0; 1 < n; i++) {

Spawn s = new Spawn();

Thread t = new Thread(s);

t.start();

try {

t.join();

} catch(Exception e) { }
¥
long stopTime = System.currentTimeMillis();
System.out.println("Time usage : " + (stopTime - startTime) +

ms");
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public class NoSpawn {

public static void main(String[] args) {
int n = Integer.parseInt(args[@]);
long startTime = System.currentTimeMillis();
for(int 1 =9; 1 < n; 1++) { }
long stopTime = System.currentTimeMillis();
System.out.println("Time usage : " + (stopTime

:\tmp>java NoSpawn
ime usage : 0 ms

ime usage :

:\tmp>java NoSpawn
ime usage : 0 ms ime usage :
IC:\tmp>java NoSpawn 100 IC:

ime usage : 0 ms ime usage :
IC:\tmp>java NoSpawn 1000

ime usage : 0 ms ime usage :
:\tmp>java NoSpawn 10000

Time usage : 1 ms ime usage :

IC:\tmp>java NoSpawn 100000
ime usage : 1 ms

Time usage :
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:\tmp>java Spawn

ms");

- startTime) +

0 ms

:\tmp>java Spawn

2 ms

:\tmp>java Spawn 100

17 ms

IC:\tmp>java Spawn 1000

135 ms

IC:\tmp>java Spawn 10000

1257 ms

:\tmp>java Spawn 100000

12425 ms
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java.util.concurrent.Executors
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\tmp>3ava NoCrash 5

i import java.util.concurrent.*; 3: Done
: Done

public class NoCrash implements Runnable { ; gg:g
int id; : Done

\tmp>Java NoCrash 10

public NoCrash(int id) { this.id = id; }

: Done

: Done

public void run() { 3 gg::
int buffer[] = new int[50000000]; ) Bone

try { : Done
Thread.sleep(2000); ; 3322

} catch(Exception e) { } : Done

System.out.println(id + ": Done"); : Done

¥

public static void main(String[] args) {
int n = Integer.parselnt(args[@]);
ExecutorService es = Executors.newFixedThreadPool(5);
for(int 1 = 0; 1 < n; 1++) {
NoCrash ¢ = new NoCrash(i);
es.execute(c);

h

es.shutdown();
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import java.util.concurrent.¥;

public class SpawnThreadPool implements Runnable {
public void run() { }

public static void main(String[] args) {
int n = Integer.parseInt(args[0]);
long startTime = System.currentTimeMillis();

ExecutorService executor = Executors.newSingleThreadExecutor();
for(int 1 = 0; 1 < n; 1++) {
SpawnThreadPool s = new SpawnThreadPool();
executor.execute(s);
}
executor.shutdown();
while(!executor.isTerminated()) {}
long stopTime = System.currentTimeMillis();
System.out.println("Time usage : " + (stopTime - startTime) +

ms");
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:\tmp>java Spawn :\tmp>java SpawnThreadPool
ime usage : 0 ms ime usage : 5 ms

:\tmp>java Spawn 10 :\tmp>java SpawnThreadPool
ime usage : 2 ms ime usage : 4 ms

IC:\tmp>java Spawn 100 C:\tmp>java SpawnThreadPool 100
ime usage : 17 ms ime usage : 5 ms

IC:\tmp>java Spawn 1000 C:\tmp>java SpawnThreadPool 1000
ime usage : 135 ms ime usage : 8 ms

:\tmp>java Spawn 10000 C:\tmp>java SpawnThreadPool 10000
Time usage : 1257 ms ime usage : 22 ms

:\tmp>java Spawn 100000 IC:\tmp>java SpawnThreadPool 100000
Time usage : 12425 ms ime usage : 76 ms
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